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QUESTION 1

You notice poor performance on your FlexGroup and execute the system node run -node * flexgroup show command for
more Information. You notice the "Urge" column has non-zero values. 

In this scenario, which statement is true? 

A. The aggregate is completely full. 

B. The constituent volumes are out ofInodes. 

C. The data placement is uneven. 

D. The constituent volumes are completely full. 

Correct Answer: A 

 

QUESTION 2

Your customer complains that u host will constantly report losing a connection to the iSCSl target and then report that
the session was reestablished. 

As shown in the exhibit, what is a cause of this flapping? 

A. A host with an IP address of 172.20.10.80 and a second host with an IP address of 10.10.20.60 have the same IQN. 

B. A host with an IP address of 172.20.10.80 and a secondhost with an IP address of 10.10.20.60 are in different
initiator groups. 

C. A host with an IP address of 172.20.10.80 and a second host with an IP address of 10.10.20.60 are accessing the
same LUN. 

D. A host with an IP address of 172.20.10.80 and a secondIP address of 10.10.20.60 is accessing different LUNs. 

Correct Answer: C 
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QUESTION 3

Which two automation methods does NetApp ONTAP Select support? (Choose two.) 

A. REST 

B. Anslble 

C. Docker 

D. PHP 

Correct Answer: AB 

 

QUESTION 4

Your customer has deployed a two petabyte NetAppONTAP FlexGroup volume across their 4-node ONIAP 9.8 cluster.
They plan to store over three billion files. They want to prevent file 10 conflicts since files are placed into the FlexGroup
volume. 

In this scenario, which two NFS SVM parameters should be enabled? (Choose two.) 

A. -v3-64bit-identifiers 

B. -v4-fsid-change 

C. -v3-fsid-change 

D. -v4-64bit-idantifiers 

Correct Answer: AC 

 

QUESTION 5

You have a customer complaining of long build times from their NetApp ONTAP-based datastores. They provided you
packet traces from the controller and client. Analysis of these traces shows an average service response time of 1 ms.
QoS outputconfirms the same. The client traces are reporting an average of 15 ms in the same time period. 

In this situation, what would be your next step? 

A. The cluster is responding slowly and requires further investigation using performance archives. 

B. The client that reports high latency should be investigated. 

C. The cluster interconnects should be investigated. 

D. A sync core should be triggered. 

Correct Answer: B 

 

QUESTION 6

NS0-593 Practice Test | NS0-593 Exam Questions | NS0-593 Braindumps                                3 / 5

https://www.pass4itsure.com/ns0-593.html
https://www.pass4itsure.com/ns0-593.html
https://www.pass4itsure.com/ns0-593.html


https://www.pass4itsure.com/ns0-593.html
2024 Latest pass4itsure NS0-593 PDF and VCE dumps Download

An administrator receives the following error message: 

What are two causes for this error? (Choose two.) 

A. There Is excessive SSD load causing the wear leveling to become unbalanced. 

B. A disk is falling. 

C. There is excessive SATA HDD load. 

D. An SSD disk is performing garbage collection to create a dense data layout. 

Correct Answer: AC 

 

QUESTION 7

You are optimizing your Cloud Volumes ONTAP. For interoperability and consolidation purposes, you need to know the
storagelimits. In this scenario, which source should be reviewed? 

A. NetApp Cloud Volumes ONTAP Release Notes 

B. Hardware Universe 

C. Interoperability Matrix Tool (IMT) 

D. Cloud Central 

Correct Answer: A 

 

QUESTION 8

A customer enabled NFSv4.0on an SVM and changed the client mount from NFSv3 to NFSv4. Afterwards, the customer
found that the directory owner was changed from root to nobody. In this scenario, which statement is true? 

A. The customer did not configure name services on the SVM. 

B. The clients must be restarted to start using NFSv4. 

C. The export policy is not configured properly. 

D. The ID mapping domains do not match between the client and server. 

Correct Answer: C 

 

QUESTION 9

After users start reporting the Inability to create new flies in a CIFS share, you find EMS events for wafl.dir.size.max
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logged for the volume of the SVM to which the share points. 

In this scenario, which action should you take to solve this issue? 

A. Delete unneeded files from the directory. 

B. Move the volume to a different aggregate. 

C. Increase the maximum numberof files for the volume. 

D. Increase the maximum directory size for the volume. 

Correct Answer: C 

 

QUESTION 10

A customer reports that while Installing Windows updates on their external Vscan servers, clients couldnot access any
files on their CIF-S SVM. The problem disappeared after the update process was completed. The customer wants to
prevent this issue from happening during the next patch window. 

In this scenario, what are two ways to accomplish this task? (Choose two.) 

A. Enable the -scan-mandatory flag in the Vscan policy. 

B. Update the Vscan servers one at a time. 

C. Modify the CIFS shares to be continuously available (CA) shares. 

D. Disable the -scan-mandatory flag in the Vscan policy. 

Correct Answer: AC 
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